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QUESTION NO: 1

Which of the following permission control policies does Object Storage Service (OSS) provide for access to objects stored in
a bucket? (Number of correct answers: 4)

A. ACL

B. RAM Policy

C. Bucket Policy

D. STS authorization

E. Dynamic blacklist
IntranetAccess

F. Object Policy

ANSWER: ACDF

QUESTION NO: 2

A developer accesses logs in a Log Service Logstore via the API. The error code returned by the server is 404. Which of
these could be the cause?

A. The log project (Project) does not exist
B. The requested digital signature does not match
C. Server internal error

D. Server is busy: please try later

ANSWER: A

QUESTION NO: 3

A mobile application developer intends to use Alibaba Cloud Object Storage Service (OSS) to store the end user data for
their app, and to ensure data isolation between each user of the app, to prevent one user from obtaining another's data.
Which method can be done to meet these requirements?

A. RAM Policy

B. STS authorization

C. Bucket Policy

D. Object Policy
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ANSWER: B

QUESTION NO: 4

Elastic Container instance (ECI) is an agile, secure, serverless service for running containers. If you need to configure public
network access for ECI, which of these are reasonable solutions? (Number of correct answers: 3)

A. Specify a public IP address when creating the ECI.
B. Bind a NAT gateway and an EIP to the VPC to which the ECI belongs.
C. Configure ECI as a backend for a Server Load Balancer (SLB) that has a public IP address.

D. Bind an Elastic IP (EIP) to the ECI instance.

ANSWER: ABC

QUESTION NO: 5

To meet data analytics requirements on large datasets, which of these databases can meet the demand for structured and
semi-structured storage for almost all types of data, albeit with limited support for strong transactions?

A. HBase
B. OceanBase

C. RDSMariaDB
D.TSDB

ANSWER: C

QUESTION NO: 6

Which of the following detection protocol is NOT supported by CloudMonitor's Site Monitoring feature?
A. HTTP(S)

B. TCP/UDP

C.DNS
D. SNMP

ANSWER: D

QUESTION NO: 7
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Which of the following descriptions describes the (Security Token Service) STS service correctly? (Number of correct
answers: 3)

A. Through the STS service, RAM users or RAM roles can obtain a temporary token that allows them to call the Alibaba
Cloud API or use the web console

B. A STS request consists of an access address, communication protocol, request method, request parameters and
character encoding

C. When calling the STS AP, in order to ensure the safe calling of the API, Alibaba Cloud will authenticate each API request
through a signature when each API call is made

D. The STS service supports the use of both HTTP and HTTPS protocols

ANSWER: BCD

QUESTION NO: 8

An Elastic Compute Service (ECS) instance (private IP only) needs to read data from a RDS MySQL database in another
VPC through a private IP address, and at the same time, RDS's public internet endpoint needs to be available for requests
from some internet clients. Which steps must be taken to allow applications to access this RDS instance via both interfaces?
(Number of correct answers: 2)

A. Make sure that the security group of the ECS instance allows outbound access to the MySQL service port.

B. Add the private and public IP addresses of all applications to the RDS whitelist.

C. Connect the two VPCs through CEN.

D. Configure a NAT gateway for the VPC to which the ECS instance belongs.

ANSWER: D

QUESTION NO: 9

Which of the following operations can be performed through Log Service sAPI? (Number of correct answers: 3)
A. Collect logs based on Logtail configuration and Logtail machine group information

B. Create a Logstore, write and read logs to the Logstore

C. Access control for different users

D. Deliver logs to OSS for storage and analysis

ANSWER: AB C

QUESTION NO: 10
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Which of the following options are correct for Multipart Upload and Resumable Upload in Object Storage Service (OSS)?
(Number of correct answers: 3)

A. Use Multipart Upload to upload parts of a file in parallel to speed up the upload process
B. Multipart Upload is usually used when the size of the file to be uploaded is large
C. If the upload fails due to an accident during the uploading of fragments, you need to upload all the fragments again

D. After an upload is interrupted, the portions of the file which have successfully uploaded prior to the interruption will be
saved in the OSS bucket

ANSWER: ABC
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